STATISTICAL TERMS.

Median.

Median = 50% percentile.
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25 Median 75
percentile percentile

25 & 75 percentiles measure spread.

Confidence interval.

The range of values within which the “true” value
in the population is found.

95% CI: can be 95% confident the population value
lies within those limits.

Is anestimateof the “true” value.




Confidence interval - 2.

95% CI| = Sample estimate +/- 1.96 x SE

The bigger the sample - the smaller the sample error
(SE).

Bigger sample®& smaller Cls.
more precise estimate of the “true”

population value.

P-value.

For whatever you are comparing (mean, median,
proportions) & whatever test you are using:

the probability of observing differencesthis big,
when thereis no difference in the overall
population.

Smaller the p-value; the more you can doubt the
null hypothesis.

Chi-squared test.

Test to comparproportions from two or more
independent samples.

Look for a P-value of 0.05 or less, i.e. that thiere
less than a 1 in 20 chance that the difference
observed in the sample population could occur by
chance, if there was no difference in the overall
population.




Skewed data.

Can be dealt with by:
sTransforming the data.
*Non-parametric tests.

Non-parametric tests: make no assumptions
about the underlying distribution of the data.

Kruskall-Wallis test.

A non-parametric test used to comparertteglians
from three or moreindependent groups.

Look for a P-value of 0.05 or less, i.e. that thiere
less than a 1 in 20 chance that the differences
observed in the sample population could occur by
chance, if there was no difference in the overall
population.

Sample size.

The trial should be big enough to detect, as izl
significant, a worth while effedf it exists.

When calculating the sample size, need to know:

swhat level of difference constituteslanically significant
effect.

the variability (standard deviation)of the measure
Base sample size on theincipal outcome measure:

- number of days to resolution of symptoms.




Sample size -2.

Null hypothesis: there is no difference in sympt@solution
between the groups.

80% power: the chance of rejecting the null hypsitheshen
it is false.
The chance afietting it right - set this high.

5% level of significance: the chance of rejecting hull
hypothesis when it is true.
The chance afietting it wrong - set this low.




